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1| FR30EE [EMOILEMNITBES ENRIEARERS (BEMS2H) aE—THE1&#H1 R&JIENRIFR 6,708,000 — 6,630,000
2 [ERBOFEE TEF|VLLEAII5BS HIRIEAFET (Bl 5249) AE—THE1&M#1 KA NIENRIFR 3,315000f —— 3,315,000
3 | ERI0EE FERTHES LIRS BEEHR (B)BH1= 1443508 ——— 1,438,420
4 [FRI0EE REEHRFEHET (MRFAAEIINSHE) aE—TH EFRZ R (RR) 6,620,000 — 6,400,000
5 |[FRB0FE HRZHEBFERT(\BREXF FhiE15680 % th 1 ERZ R RERR) 4,000,000 — 4,000,000
6 | TH0FE TREMERFSNEESEEBRET 1t —TH2&SS (B)FRESE 1,256,250 ——— 1,000,000
7 | FRIFE REZREXBERR (GEBR/NER) #Wwit—THE2%105 FH LG 870,000f — 751,200
8 |TFRB0FEE HMZHEBFERT(\FHR/NER) BrIB6EM (TH ALK 7300000 — 540,000
9 | FA0EE ERIZHEFRT (AREMEHPFR) REMETEH2&15 (Fh EFRE & REE () 510,000 —— 206,000
10 [FRB0EE REEREBZEEBRT—2av\—0E,4Em) | BF—TB1892&M3 (Fh EFRE & REE () 460,000 —— 460,000
11 [FRB0FEE REZRRBRT (\BHXFER) WRE3513&F#h2 (Th FREZHARER) 300,000 —— 100,800
12 | FR30EE BEXM-BEENXBERE(HRAET) aE—TH B)FRESE 11,220,000f —— 7,980,000
13 [ FRB0FE BERMRBERT (\BHREXF i fE15680F th 1 (B FRESE 5470000 —— 2,988,000
14 [ FRB0FEE AEERAZREEERBERSR (\BREXA i fE15680F th 1 BEI =TI GE) 1,820,000 —— 1,820,000
15 [ ERB0FE SEMERMEFEEXBER =ik =Ho)—ra Y ILE ) 1,862,000 —— 1,860,000
16 ;ggfg SHFLESCBEREERBER SNHLORERHY KF10527%F 6 #TOT) =TI 4,738,000f —— 3,900,000
17| ERRB0FEE mEMOAHMMEHFLEHEHITEERXFERS Rulo)=1 @RI Y —ER 2,680,0000 —— 2,650,000
18 iﬁ%gg? AEBRT RBERBRRE (RRNFR-TRNPE-D E&11358H2 [Fh CoplEE=zss 990,000 —— 970,000
19 | FRH30EE HEBRTAREBERE (SENFR-ILDNER) =iR62E M (Eh (BR)ToTv9 520,000f —— 520,000
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99 g?‘zsoﬁrﬁ BREEMEBERTOI(BERFZHKREHE1LE o NS E S () sa0000| — 486,000
93 ;Eﬂ%&:ﬂg{)ﬁ@ﬂﬁ%ﬁ%ﬁ%wz(%%ﬁ%ﬁtmtﬂbm-Elﬁlﬁ ERh (E T E () 720000] — 720,000
24 [ ERI0EE AREMBRSERRREBR VMRS AEXS BREHBR (B) KR LEHR 52— 3,795000 — 3,657,500
25 | FH0FE TREEFERINEEEBER 1t —TH2&SS TR — — —
26 igjzas)oﬁg)ri BROBLAT LR RBRRE (SNBVNOERMUE KEp10527% 6 B TUTA—Rb EEHMEEER 1,070,000, —— 1,020,000
27 igﬁ‘z?oﬁg mEKRERRT RERR (SN OEREVELY KFH10527% 16 THIRERE) R LR 650,000 — 630,000
28 [FRI0EE RULNREELREEREHFERT AEmERERELTEST REFRER) ZRWE R 6,662,400 —— 5,799,400
29 |[ER30EE EEHEHFRL(MANR) I\BHREXRERRELTENT @LVIHBLEHE 3,390,000f — 2,980,000
30 |[ER30EE EIFEARIRAER)—R (RETHAARSHEER AE—TH2%FM18 (FA | FR)/NMUER RKEER 1,178,880 —— 1,170,000
31 [FRI0EE REBEEARKTKEKENTEBET IEEANESRX (O 2EFR (- R BREHFRBRE L F— 2,380,000 — 2,290,000
32 [FRI0EE AIIKERHES REF FH FROREAEY—ER 867,000f — 800,000
33| ERB0EE REREXRHRE (BRFERBE L 2—) Bl ELR16FE165 (W) IRMEMBRA KEXAR 1,359,200 — 1,359,200
34 [FRHIEE REREXEHRT(\BERGEREVF—) BlRZH BE1300%F 17 (W) ITERMEMBRR KEXR 511,300f —— 511,300




